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Wellenlänge λ /nm
400 500 600 700

D65

0,0

   

1,0

   

2,0

CIEF10_L-Normspektralwerte y−max(λ)=1
z−F10_L,1(λ)=A31l

−
F10_L,1(λ)+A32m

−
F10_L,1(λ)

+A33m
−

F10_L,1(λ)
A3j 0,000 0,000 2,1468 (λ=440)

D65:Σz−F10_L,1(λ)=47,93
xF10_L,1=0,2271
yF10_L,1=0,2410
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Wellenlänge λ /nm
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D50

0,0
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2,0

CIEF10_L-Normspektralwerte y−max(λ)=1
z−F10_L,1(λ)=A31l

−
F10_L,1(λ)+A32m

−
F10_L,1(λ)

+A33m
−

F10_L,1(λ)
A3j 0,000 0,000 2,1468 (λ=440)

D50:Σz−F10_L,1(λ)=35,84
xF10_L,1=0,2538
yF10_L,1=0,2809
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Wellenlänge λ /nm
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P40
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CIEF10_L-Normspektralwerte y−max(λ)=1
z−F10_L,1(λ)=A31l

−
F10_L,1(λ)+A32m

−
F10_L,1(λ)

+A33m
−

F10_L,1(λ)
A3j 0,000 0,000 2,1468 (λ=440)

P40:Σz−F10_L,1(λ)=28,92
xF10_L,1=0,2849
yF10_L,1=0,3102
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Wellenlänge λ /nm
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A00

0,0

   

1,0

   

2,0

CIEF10_L-Normspektralwerte y−max(λ)=1
z−F10_L,1(λ)=A31l

−
F10_L,1(λ)+A32m

−
F10_L,1(λ)

+A33m
−

F10_L,1(λ)
A3j 0,000 0,000 2,1468 (λ=440)

A00:Σz−F10_L,1(λ)=16,22
xF10_L,1=0,3591
yF10_L,1=0,3767
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Wellenlänge λ /nm
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E00
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1,0

   

2,0

CIEF10_L-Normspektralwerte y−max(λ)=1
z−F10_L,1(λ)=A31l

−
F10_L,1(λ)+A32m

−
F10_L,1(λ)

+A33m
−

F10_L,1(λ)
A3j 0,000 0,000 2,1468 (λ=440)

E00:Σz−F10_L,1(λ)=46,04
xF10_L,1=0,2430
yF10_L,1=0,2475
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Wellenlänge λ /nm
400 500 600 700

C00

0,0
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CIEF10_L-Normspektralwerte y−max(λ)=1
z−F10_L,1(λ)=A31l

−
F10_L,1(λ)+A32m

−
F10_L,1(λ)

+A33m
−

F10_L,1(λ)
A3j 0,000 0,000 2,1468 (λ=440)

C00:Σz−F10_L,1(λ)=50,58
xF10_L,1=0,2258
yF10_L,1=0,2284
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Wellenlänge λ /nm
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P00

0,0

   

1,0
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CIEF10_L-Normspektralwerte y−max(λ)=1
z−F10_L,1(λ)=A31l

−
F10_L,1(λ)+A32m

−
F10_L,1(λ)

+A33m
−

F10_L,1(λ)
A3j 0,000 0,000 2,1468 (λ=440)

P00:Σz−F10_L,1(λ)=37,32
xF10_L,1=0,2661
yF10_L,1=0,2760
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Wellenlänge λ /nm
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Q00

0,0
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CIEF10_L-Normspektralwerte y−max(λ)=1
z−F10_L,1(λ)=A31l

−
F10_L,1(λ)+A32m

−
F10_L,1(λ)

+A33m
−

F10_L,1(λ)
A3j 0,000 0,000 2,1468 (λ=440)

Q00:Σz−F10_L,1(λ)=56,95
xF10_L,1=0,2230
yF10_L,1=0,2192


